[Politics of Planned

Development

C Fastracl« Revision )

P Political Contestation

» In a democracy or In a democratic country, the Ffinal
declslon must be a political declslon, taken by people's
representatives who are In touch with the feelings of
the people.

» After Independence, everyone agreed that the
development of Indla will take place by, economilc
growth along with soclal and economic Justice.

» There was disagreement on the kind of role that the
government must play In ensuring economic growth
with justice,

» Ideas of Development

> Any dliscusslon on development Is bound to generate
contradictions, conflicts and argumants.

» 'Development’ was about becoming more 'modern’
and modern was about becoming more like the
Industrialised countries of the West,

» Modernisation was assoclated with the |deas of growvsth,
material progress and sclentific rationality.

» Planning

» Desplte the wvarlous differences, there was a
consensus on one polnt: that development could
not be left to private sectors. So, there was the need
for the government to develop a design or plan for
development,
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In 1944, the blg industrialists drafted a Joint proposal
for setting up a planned economy in the country
7=+ known as Bombay Plan.

» Soon after India became independent, the Planning
Commission came into being as Prime Minister its
chairperson.

» Objectives of Planning

» It helps In the proper utilisation of economic resources

» It helps In the attainment of a Fixed goal In a definite
time perlod

» Planning helps For the FulAlment of the basic needs of
the society.

» It helps in the removal of various social problems
like illiteracy, poverty, backwardness etc., fFor Sodial
development.

» Planning Commission in India

» Soon after the Independence a Planning Commissian
was set up with the PM as the chairman.

» |t became the central machinery for declding the path
and strategy of Planning for development.

» It was set up in March 1950 by a resolution of the
government of Indla.

» It wasset up under the chalrmanship of Prime Minlster-
Nehru,

» The composition of the Planning Commisslion has kept
on changlng according to the requirement of the time
and Interest of the government.

» First Planning Commission was essentlally composed
of politicians,

» Later on, Nehru added certaln members from publc
men, administrators, economists and other experts.

» Now It consists of both political and non-political men.

» In additlon to Chairman and deputy Chairman, there
are 10 to 12 other members.

» Among them, there are flve or six ministers.

» Functions of Planning Commlssion

» To assess the materlal, Capltal and human resources of
the Country.

» To Farmulate a Plan For the most effective utllisation of
the Country’'s resources.

» To suggest machlnery for ensuring the successful
Implementation of each stages of the plan.

» To propose the allocation of resources on the priority.

» The Early Initlatlves
» The Planning Commisslon has decided to formulate
Five Year plans for the ecanomic development of India.
In this case, Indla Followed the model of Soviet Unlon.
» The Idea of Flve Year Plan [s very simple.

wiedge BCOSTER

Government of India prepares a document including
7~ all the income and expenditure for the next Five years.

P First Flve Year Plan (1951-56)

» Its alm was to save the Indlan economy From Poverty
and to raise the level of national income.

» The famous economist Dr. KN Raj, played an active role
in the Formulation of First Five year plan.

» |t gave priority to agricultural sector including the
constructlon of dams, Irrigation and hydro-electric
Projects.

» The agricultural sector was hit harshly by partition and
required urgent attention.

» The First five year plan allocated huge funds for large
scale projects like Bhakra Nangal and Hirakud Dams.

» The plan identified that the chief obstacle in the path
of agricultural development was the land distribution
system in the country. Therefore, it also focused
attention on land reforms.

» Rapid Industrialisation

» It was drafted under the leadership of PC Mahalanobls.
So, it is also called as Mahalanobis’ plan.

» It gave priority to Industries.

» Its main alm was to change the pace of Industrial
development.

» During this perlod, some heavy Industries were
established in India like steel industries in Bhilai and
Durgapur.




» Inorderto protectdomestlcindustries, the government
Imposed tarifFs on imports which paved the way for
the growth of Industries both In the public and private

sectors.
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It Is not necessary that all planning always has to be
c&ntmiffied, nor is it that planning Is only about big

;< Industries and large projects.

» NITI Aayog (National Institution Por Transforming

Indla)

> NITI Aayog is a statutory body constituted by the
Government of Indla.

» Made In place of Planning Commission.

» On August 15, 2014, the Prime Minister, Shri Narendra
Modl, spoke about replacing Planning Commission.

» This Instltutlon constituted after consulting state
governments, Members of Parllament, subject matter
experts.

> Headquarters In New Delhl,

» Instituted as the Chief Think Tank of the govarnmant.

> WIll provide dynamism In directional and policy
dynamilcs.

» To provide impartant and technlcal advice to the
Central and State Governments on the major Factors of
development.

» Toadvise the Government on soclal and economlic Issu@s.

» To better economic and political development and
management of the country.

» Objectives of NITI Aayog

» To develop a vision of national development priorities
with active participation of States.

» To provide a draft national agenda to the Prime Minister
and the Board of Minlsters.

» To build a strong nation.

» Enhancing the Initiative and cooperation of continuous
structural cooperation.

» Preparation of credible plan at village level.

» To accelerate the work of the development agenda.

» To pay special attention to the deprived sections of the
soclety through economic progress.

7 1950 with the Prime Minister as Its Chalrman.

» Enhanclng knowledge Innovatlon and enterprise
through national and International experts and others.

» Important Words

» Planning: A systematic requlation to optimum use of
resources and to reduce wastage of time.

» Capitalist Economy: The economy in which private
sectors are prioritised in place of soclal welfare.

» Soclalist Economy: It alms at the public sector and
planning with the alm to establish egalitarlan soclety.

» Bombay Plan: It was a Joint proposal of a sectlon of blg
Industrlalists For setting up a planned economy In the
country to be drafted In 1944,
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Planning Commission: /t /s an ‘extra-constitutional
body'to make plans for the country to set up in March

> Plan Budget: It Is the amount that is spent on a Five-
year basis as per the priorities fixed by the plan.

» Mixad Economy: The economy In which the private and
the public sector both co-exist.

G/\Important Dateline
Date/Year Impaortant Dataline

1950 - Setting of Planning Commission of Indla
1951-1956 == First Five Year Plan

1956-1961 =— Second Five Year Plan
1961-1966 = Third Five Year Plan
1969-1974 == Fourth Five Year Plan
1974-1979 - Fifth Five Year Plan
1980-1985 == Sixth Five Year Plan
1985-1990 == Seventh Flve Year Plan
1992-1997 == Elghth Flve Year Plan
1997-2002 — Ninth Five Year Plan
2002-2007 == Tenth Five Year Plan
2007-2012 = Eleventh Five Year Plan
2012-2017 == Twelfth Five Year Plan

2014 — Planning Commission of India dissolved
2015 == NITI A3yoqg succeeds Planning Commission
of India

& Practice Exercise

"f Multiple choice Questions N Q3.

QL Which of these statements about the Bombay Plan a. Make in India b. Come on India
is incorrect? (NCERT) c. Start-up India d. Swiachh Bharat

a. It was a blueprint for Indla's economic future Q4. Planning Commission was setup by...... (CBSE 2023)

cessennensnnnnennee POLICY has been adopted by NITI
Aayoag. (CBSE SQP 2020)

b. It supported state-ownership of industry
c It was made by some leading Industrialists
d. It supported strongly the idea of planning

Q2. .vriiiiiennennnnsss acts as a think tank of the Union
Government. (CBSESQP 2020)

a. NITI Aayog

b. Yojana Aayog

¢. Election Commission of India
d. Ministry of External Affairs

a. Constitution of India

b. President of India

c. a resolution of Government of India
d. the Constituent Assembly

Q5. Why J.C.Kumarappa supported the plan of
industrialisation of rural areas?
a. For the ground level development

b. To help the poor

c. To escape the viclous circle of poverty

d. To boost up the economy



Q6.

Q7.

Q8.

Q9.

Q 10.

QL.

Q12

Q1s.

Q 14.

Q15.

Which one of the following was not a part of the

early phase of India's development policy?
(CBSE2019)

a. Planning

b. Self sufficiency

C. Privatisation

d. Saclal and ecanomic |ustice

When were the restrictions on private industries
imposed?
a. 1960s b. 1970s ¢ 1990s d. 1950s

...................... play an important role In the aconomy
of developing countrles like Indla.

a. Private sectors b. Public sectors

C. Unlon ministers d. State government

Which factor was responsible for discouraging
research and development in manufacturing sector?
a. Goods manufactured by local industries

b. Poor Import and export policy

c. Export restrictions on goods manufactured In Indla
d. All of the above

On which model was "The Planning Commlssion" of
Indla setup?

2. Calcutta Model

b. Bombay Plan

c. Natlonal Development Model

d. None of the above

Which among the following statements about the
"Bombay Plan" is Incorrect? (CBSE 2023)
a. It was the blueprint for Indla's Economic future
b. It supported the state ownership of industry

C It was made by some leading Industrialists

d. It strongly supported the Idea of planning

In 1946, who was chairman of the Planning
Advisory Board?
a. K C Neogy

c. Dr. Ambedkar

NITI Aayog was set up:

a. to bring more accuracy In the development

b. because people had expectations for growth and
development in the administration through thelr
participation

C sothatdepartments could be Included in Planning
Commission

d. All of the above

When the NDC was setup?
a. August 6, 1952 b. December 6, 1952
c. August 7.1952 d. June 10.1952

Identify the stages of modernisation:

a. Agrarian soclety
b. Drive to maturity
C. Age of high consumption

d. All of the above

b. Sardar Patel
d. None of these

Q 16. Who appoints the Vice-Chairperson of NITI Aayog?

Q17

Q 18.

Q19.

Q 20.

Q21

Q 22.

Q 23.

(CBSE2021, Term-1)
a. The Prime Minister

b. The President
c. The Chief Executive Officer
d. The Finance Minister

Which one of the following Is not the objective of

NITI Aayog? (CBSE 2023)

a. To provide strategic Input to development
process of Indla

b. To serve as the Think Tank of the Government of
Indla

¢. To arrange funds for the developmental programmes

d. To put an end to the tardy Implementation of
policles

NITI Aayog serves as a think-tank to promote..........
federation where government acts as a............ with
the help of technology. Select the correct option.
a. Competitive. controller

b. Camparative, central authority

c. Cooperative, faclUtatar

d. Correlated. enable

Why was the Planning Commission replaced by NITI

Aayog? (CBSE 2021, Tarm+1)

a. More push was required to cope with the pressing
challenges of development.

b. The Planning Commission was unacceptable by
the people.

c. The Planning Commission was not desirable by
the leaders.

d. It was inadmissible by the opposition.

Which one of the following commissions was
formed for the planned development of India, just
after independenca? (CBSE 2021, Term-1)

a. Electlon Commission b. Planning Commission
c. Shah Commission d. NITI Aayog

Who among the following served as the Vice

Chairman of NITI Aayog?
3. Rajiv Kumar
c. Raghuram Rajan

b. Amitabh Kant
d. None of these

In which year was the NITI Aayog constituted?
(CBSE2021, Tarm-1)
a. 2014 b. 2015 c. 2016 d. 2017
Which of the following statements about NITI
Aayog are true? (CBSE2021, Term-1)
() NITI Aayog acts as a ‘think tank’ of the Union
Government
(ii) NIT!I Aayog acts agalnst terrorism.
(iii) NITI Aayog acts in the spirit of cooperative
federallsm.

(lv) NITI Aayog decldes more role for blgger states
and smaller role for smaller states.



Q 24,

Choose the correct optlon:

a. (1), (1) and (Iv) b. (lil) and (Iv)

c. (1), (1) and (iv) d. (I) and (lli)

What was the main focus of the Second Five Year
Plan? (CBSE 2021, Term-1)
a. Agriculture

b. Industrialisation
¢. Education

d. Transportation

~” Assertion & Reason Type Questions N

Directions (Q.Nos. 25-29): In the questlons glven below,
there are two statements marked as Assertion (A) and Reasan
(R). Read the statements and choose the correct optlon:

Q 25.

Q 26.

Q27.

Q 28.

Q 29.

a. Both (A) and (R) are true and (R) Is the corract
explanation of (A).

b. Both (A) and (R) are true. but (R) Is not the correct
explanation of (A).

c. (A) Is true, but (R) Is false.

d. (A) Is false, but (R) Is true.

Assertion (A): '‘Development’ was about becoming
more ‘modern’ and modern was about becoming
more like the industrialised countries of the West.

Reason (R): It was belleved that every country would
go through the process of modernisation as in the
West, which involved the breakdown of traditional
soclal structures and the rise of capitalism and
liberalism.

Assertion (A): Development could not be left
to private actors, that there was the need for
the government to develop a design or plan for
development.

Reason (R): The Bombay Plan wanted the state
to take major Initiatives in industrial and other
Economic investments.

Assertion (A): The First Five Year Plan (1951-1956)
sought to get the country's economy out of the
cycle of poverty.

Reason (R): K. N. Raj, a young economist involved
in drafting the plan, argued that India should
‘hasten slowly' for the first two decades as a fast
rate of development might endanger democracy.

Assertion (A): NITI Aayog Is a non-constitutional
body.

Reason (R): The Chief Minister of India is the Ex-
Officio Chairman of NIT| Aayog.

Assertion (A): The Second Five Year Plan stressed
on heavy industries. It was drafted by a team of
economists and planners under the leadership of
P.C. Mahalanobis.

Reason (R): However, the Second Five Year Plan
was responsible for the ruin of the agriculture as it
did not have enough funding to support it.

-€) Fill in the Blank Type Questions N

Q 30.

Q 3l

Q 32.

Q 33.

The development of the national economy cannot
be leftonlyon......cccieiiiniiinns

McDonald's investment in India to increase its
stores is an example of .......ceuins e

National Development council symbolises the
..................... approach to planning.
The reason for setting up of the
is that people had expectations for growth and
development In the administration through thelr
participation.

-€) True or False Type Questions N

Q 34.

Q 35.

Q 36.

Bombay plan was a blueprint for Indla's economic
future.

During 1965-67, Blhar faced a near Fomino
situation,

The Constitution of India has guaranteed certain
Fundamental Rights to the Citizens of Indla and
enunclated certaln Directive Principles of State
Pollcy.

@) Correct and Rewrite Type Questions N

Q 37. The Government of India replaced the Planning

Q 38.

Commission with a new planning organisation.

The Government of India has guaranteed certain
Fundamental Rights to the Cltizens of Indla.
[Answers]
\ 4
1. (a) 2. (a) 3. (3 4. (d) 5. (c)
6. (¢ 7. (3) B. b) 9. (c) 10. (b)
m (b)) 12 (3 13 (b) 14 () 15 (d)
6. (8 17. (¢) 1B (¢ 19. (3) 20. (b)
21. (@) 22. (b) 23. (¢ 24. (b) 25. (3)
26. (b) 27. (b) 2B. (c) 29. (¢
30. Prlvate Sectars 33. NITI Aayog
31. FDI 34. False
32. Federal 35. True
36. True
37. The Government of Indla replaced the Planning
Commission with a new Institution named NITI
Aayog
38. The Constitution of Indla has guaranteed certaln

Fundamental Rights to the Citizens of Indla.



) Passage Based questions N

Passage 1

QL

Qe

Q3.

Q4.

Read the passage given below and answer the
guestions that follow by choosing the most
appropriate option:

On the eve of Independence, India had before it,
two models of modern development: the liberal-
capitalist model as in much of Europe and the
US and the socialist model as in the USSR. You
have already studied these two ideologies and
read about the ‘cold war' between the two super
powers. There were many in India then who
were deeply impressed by the Soviet model of
development. These included not just the leaders
of the Communist Party of Indin, but also those of
the Socialist Party and leaders like Nehru within
the Congress. There were very few supporters of
the American style capitalist development.

Which economic madels did Indla have before It on

the eve of Independence?
a. Soclalist Model b. Capitalist Model
c. Mixed economy model d. Both a. and b.

The nationalist leaders belleved that...........cc..oeenne.
a. the government was responsible for poverty
alleviation and soclal economic redistribution
b. the government should encourage commercial

functions
c. the government only needed to take care of
electlons

d. None of the above

The idea of planning was drawn from ......cccu —
a. the Bombay Plan

b. Gandhlan vislon of sodety

c. experiences aof the Soviet bloc countries

d. Both a.and b.

Which of the following were not a part of India's

development in the early phase?
a. Liberalisation b. Self-sufficiency
C None of these d. Botha.andb.

Answers °
(a)

. d 2 (3 3. (d a4

Passage 2

Read the passage given below and answer the
questions that follow by choosing the most
appropriate option:

India did not follow any of the two known paths
to development - it did not accept the capitalist
model of development in which development was
left entirely to the private scctor, nor did it follow
the socialist model in which private property was

QL

Q2.

Q3.

Q4.

abolished and all the production was controlled by
the state. Elements from both these models were
taken and mixed together in India. That is why it
wag described as ‘mixed economy’. Much of the
agriculture, trade and industry were left in private
hands. The state controlled key heavy industries,
provided industrial infrastructure regulated trade
and made some crucial interventions in agriculture.
Which were the two known paths to development?
a. Capltalst mode of development

b. Soclalist mode of development

C. Mixed model of development

d. Both a. and b.

What was the main feature of the mixed economic
model?

a. The state controlled key Industries

b. The state provided Industrial Infrastructure

c. Regulated trade and made cruclal Interventions
In agriculture

d. All of the above

The mixed madel howaver was criticised from both

a. Industrialists; peasants

b. opposlition; farelgn governments

c. left right

d. USSR: USA

How Is a mixed economy model implemented?

a. Government plans and regulates economy

b. Licensing and subslidles and progressive taxing ls
adopted

c. Publc sector performs a significant role

d. All of the above

Answers ’
(d)

1@ 2@ 3 @ a4

“@f VBI’V Short Answer Type Questions N

QL

Ans.

Q2.

Ans.

Qa.

Ans.

According to the guidelines of the Second Five Year
Plan, how did the government try to protect the
domestic industries?

The SecondFive YearPlanfocused onindustriallsation
in rural areas to protect the domestic industries.

Which institution has replaced the Planning
Commission? (CBSESQP 2019)
NITI Aayog,

What was the main aim of launching “Make In

India” campaign?
The Make in India initiative was launched by Prime
Minlster In September 2014 as part of a wider set of

nation-building, initiatives. Devised to transform India

Into a global deslgn and manufacturing hub. Make In

Indla was a timely response to a critical situation.



Q4

Ans.

Q5.

Ans.

Q6.

Ans.

Q7.

Ans.

Qe.

Ans.

What is “Bottom-up Approach”?

This approach Is adopted by the NITI Aayog In order
to act in spirit of cooperative federalism to ensure

equal participation of all the states In the country
regarding five year plan.

Who Is the ex-officlo chairperson of the Planning
Commission of India?

Prime Minister of Indla.

What was "Bombay Plan"?
A sectlon of the blg Industrialists got together In 1944
and drafted a [oint proposal for setting up a planned

economy In the country. It wag¢ called the Bombay

Plan. They wanted the state to take major Inltlatives
In Industrial and other economic Investments.

Who was P.C. Mahalanobls?
P.C. Mahalanobls was the founder of Indlan Statlstical

Ingtitute (1931). He was chief architect of Second Flve

()

Year Plan. He supported rapld Industrialisation and
actlve role of the public sector.

Explain any two reasons for the formation of the
NITI Aayog in place of the Planning Commission by
the Unlon Government? (CBSE2023)
The reasans for the farmation of the NITI Aayog are:

() Institute as the Chlef Think Tank of the
government.

(1) WIll provide dynamism In directional and polcy

dynamics.

To provide Important and technical advice to the
Central and State governments on the major
factors of development.

To advise the government an saclal and economic
Issues.

To better ecanomic and political development
and management of the country.

" Cartoon Based Question \

Q 1. Studythe cartoon given below carefullyand answer

the following question:
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Ans.
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Ans.

(ili)

Ang,

What does the above cartoon signify?

The above cartoon signifies the contradiction over
the planning developmental strategies among the
leaders over public sector and private sector.

Who is the person in the middle of the astride and
what does he try to do?

Prime Minister Pt. Nehru Is in the middle of the
agtride and he Is trying to balance bath the sectors

with the formlidable elements of public sectors and

private gector taken tagether and mixed In the new

model called mixed ecanomy.

List any two elements of mixed model.
The two elements of mixed ecanomy are:

(a) Most areas of agriculture, trade and Industry
were glven to the private sector.

(b) State have controlled key heavy Industries.
provided industriol Infrastructure, regulated
trade and madae some cruclal Intervontiong In
agriculture,

‘f Short Answer Type Questions )

Ql

Ans.

Q2.

Ans.

Qs.

Ans.

Qa.

Ans.

Q5.

Ans.

Difforentiate between the capitalist and the
socialist models of development.,

The capitalist economic model allows free market
conditions to drive Innovation and wealth creatlon.

The soclallst based economy Incorporates elements

of centralised economic planning. utilised to ensure
conformity and to encourage equallty of opportunity
and economic outcome.

What Is meant by decentralised planning?
Decentralised planning is a strategy to involve
people directly In development activities through

voluntary cltizens' organisations. The state also
takes Initiatives to involve people in making plans at
the panchayat, block and district level

Write the meaning and importance of economic
planning in the Indian context.

Planning always plays a crucial role In the economic
development of the country. Economic planning
ls a strategy to achleve the goal of economic

development by pursuing a policy of planned
economy. Planning opens a new opportunities
for development for people and also enhance the
standard of lving,
State two objectives of Planning.
The two objectives of planning are-

() To make the economy celf rellant and self

generating,
(ii) To achieve growth with justice.

When and how was the Planning Commission set up?
The Planning Commission of Indla was set up In 1950
by a simple resolution of the Government of India. It
is supposed to be ‘advisory' in nature but In reality it
s very powerful and Is called the '‘Economlc Cabinet
of the Country’,




Q 6. Give the composition of the Planning Commission.
Ans. The composition of Planning Commission are:

(I) The Planning Comimisslan cansists of the Prime
Minister as its chalrman, some ministers who
are incharge of important portfolios and some
other members.

(i) It ts @ multi-member body. The members have
a high public Image and have an adminlstrative
and educational background.

Q7. How is decislon taken in a democracy regarding
soclo-economic development of the country?

Ans. In a democracy declslon Ig taken and approved by
the people themselves. In other wards, final declslon
mugt be taken by people's representatives who are
In touch with the feeling of the people.

At the same time It ls Important to take advice

from experts ranglng from environmentaliets and
economists. Thus, decision In democracy involves
poltical contestation,

Q 8. Define the term 'Mixed Economy.
Ans. Mixed economy Is an economy where both the
public and private sectors coexist.
(I) In this system both the sectors work w/ithin

the Invisible hand of the market and the vislble

hand of planning.

() Mixed Economy means of productlon are to
almed at soclal welfare and private owned

means of productlon are to be regulated by the
state.

Thus, the aim of such an economy was to attaln

rapld economic development and ensure that no
exploitative and restrictive tendencles emerged In
the economy.

Q9. Whydld Indla opt for more emphasis on the public
sector?

Ans. Indla emphasised more on the public sector not due
to its tilt towards the socialist ideology but due to
historical necessity to speed up India's development
In a capitalist framework.

This was done as the private enterprises had neither

the resources like money, nor the skill or technical
personnel. nor the Inclination to Invest heavily In
areas where returns would come much later due to
long gestation periods.

Q10. In what ways the foundatlon of India's future
economic growth were laid down?

Ans. During the planning years the foundations of Indla's
future economic growth were laid down:
(i) Some of the largest developmental projects

In India's history were undertaken during

this perlod. These Included mega dams Uke
Bhakhra-Nangal and Hirakud for irrigation and
power generation.

G- TiP:

(i) Some of the heavy Industries In the publicsector-
steel plants, oll refineries, manufacturing units,
defence production.etc. were started during this
period.

() Infrastructure for transport and communication
was Improved substantially.

Q 1. Evaluate the major outcomes of the Indlan model
of mixed economy. (CBSE2016)

Ans. Outcomes of the Indian Madel of Mixed Economy:
(i) Much of the agriculture. trade and industry were
left In private hands.
The state controlled heavy key Industries, provided
Industrlal Infrastructure. regulated trade and same
cruclal Interventions In agriculture. This led to the
prowth of both private and public sector which
became the basis for future development.

Q 12. What was the major thrust of the First Five Year
Plan? In which ways did the Second Plan differed
from the first one? (NCERT)

OR

State any two differences between the First Five

Year Plan and the Second Five Year Plan.

(COSESQP 2023-24)
Ans. The maln polnts of difference between the First Five

Year Plan and Second Five Year Plan were:

(I) The first plan focused on land reforms In rural
areas, whereas, the second plan focused on
Industrialisation in rural areas.

() The first plan focused on slow but steady
growth of Natlonal Income, whereas the second
Plan focused on rapld Industrialisation far
overall growth of the economy.

Q 13. Evaluate the major outcomes of the Indlan model

of mixed economy. (CBSE 2016)

Ans. The major outcomes of the Indian model of mixed
economy:

(I) Private sectors and public sectors flourlshed
well

(Il) State controlled the key Industries and provided
industrial Infrastructure.

(iii) The enlarged public sector provided powerful
vested interests that built enough hurdles for
private capital by way of installing the lcense
and permit system.

(lv) The state Intervened Into areas where private
sector made profits. The policy of state
restricted imports of goods and production in
the domestic market

COMMON ERR(DR .

Generally, many students get confused and write feature of
centrally planned economy.

r Students should learn types of econamy separately.




Q 14. Which model of modern development were there

Ans.

Q 15.

Ans.

before India on the eve of Independence? Which
model did India decide to choose and why?

(CBSE 2015)
On the eve of Independence. Indla had two models

of modern development before it they were the

liberal- capitallst model as In much of Europe and

the US and the soclalist model as in the USSR. India

declded to choose soclalist model of USSR because:
(I) There viere many In Indla then who were deeply

impressed by the Soviet model of development.

() These Included not |ust the leaders of the
Communlst Party of Indla, but also those of the

soclalist party and leaders like Nehru within the

Conpreas.

How was the Planning Commisslon of Indla set up?

Mentlon its scope of work.
The Planning Commisslon was set up by a simple
resolution passed by Government of Indla In March

1950. The Planning Commigsion hos a advisory role
and Its recommendations became effective when
government approves them.

Scope of Work of Planning Commission

The Planning Commisslon drafts the Five Year Plans
for keeplng all resources In mind when It Is drafted.

The resolution which set-up the commission defined
the scope of its work In the following terms:

(i) The Constitution of Indla has guaranteed certain

Fundamental Rights to the cltizens of Indla.
(I) It enunclated certaln Directive Princlples of

State Policy In particular. According to it the
state shall strive to promote the welfare of
the people by securing and protecting a soclal.
order in which |ustice. soclal economic and
palitical shall direct its policy towards securing
among other things.

Q16. What led to the policy makers to reduce the

Ans.

importance of state in Indla’s economy from 1980s
onwards?

Following factors led to reduce the Importance of
state in Indla's economy from 1980's onwards:

(i) The period of 1980s is seen as a period of

rising reglonal asplrations for autonomy. often
outslde the framework of the Indian Unlon.
(i) Movemments for autonomy involved armed

assertions by the people, their repression by
the government, and a collapse of the political
and electoral processes.

(iii) Most of those movements were long drawn and

concluded In negotlated settlements or accords
between the Central Government and the
groups leading the movements for autonomy.

Q.

Ans.

Explain any two functions of the NITI Aayog?
(CBSE 2023)
() To develop a vislon of natlonal development
prioritles with active particlpation of States.

(i) To provide a draft national agenda to the Prime

Minister and the Board of Ministers.

To bulld a strong nation.

Enhancing the initiative and cooperation of
continuous structural cooperation.,

Preparation of credible plan at village level.

To accelerate the work of the development
apenda.

@ Long Answer type Questions N

QL

Ans.

Describe briefly the composition and four functions
of the Planning Commisslon of India.

The Planning Commlssion at the center Is the apex
body In the planning machinery of the country.
The Planning Commisslon was set up In March
1950 by a resolution of the Government of Indla. In

1950. Planning Commission was set up under the
chalrmanship of Prime Minister Pt. Jawaharlal Nehru.

Organisation of Planning Commission: The
composition of the Planning Commisslon has kept

on changing according to the requirements of

the time and whims of the government. The first

Planning Commission conslsted of a Chairman, a
Deputy Chairman and five members. The Prime

Minister is the Chairman and the Planning Minister

Is the Deputy Chairman. First Planning Cormmlission

was essentlally composed of politiclans.
Later on. Pt. Nehru added certain members from

the public such as administrators, ecanomists, and
technical experts. Then. the Planning Commission
came to combine the poltical and non-political men.
In addition to Chalrman and Deputy Chalrman, there

are ten to twelve other members. Among them, there
are five to six ministers, eg. Minister for Human
Resources Development. Finance Minister, Home
Minister, Minister of Agriculture, and Minister of State

for Planning, Besides, there are a few more members.

The Commission Is divided into three major parts:
(I) Programme Advisors

(i) General Secretariat and

(iii) Technical Division.

Functiong of the Planning Commlgglon

The resolutlon which created the Planning
Commission mentioned the following functions of
the Planning Commission :



Qe

(i) Assessment of Country’'s Resources: To assess

the material, capltal. and human resources of

the country. including technical personnel, and

to Investigate the possibilities of augmenting

such of those resources as are found to be
deficlent in relatlon to the natlon's requirements.

() Formulation of Plans: To formulate a plan for

the most effective and balanced utilisation of

the country’s resources.

Determine Priorities: To define the stages of the
Plan and propage the allocation of resources
on the determination of priorities. The Ninth

(i)

Plan has glven priarities to the power sectar,
transport and communications.
To Indicate the factors which are tending to

(Iv)

retard economlc development and determine

the conditions In view of the current soclal and
political situation should be established for the
guccensful execution of the plon.

(v) To suggest machinery for securing the

guccessful Implementation of each stage of the
plan.

(vi) To appralse from time to time the progress
made In the execution of each stage of the plan

and to recommend necessary adjustments in

olicy and measures as may be necessary for
poucy y ry

the light of such appralsal

(vil) To make such interim recommendations on
the basls of the prevaling econamic conditions,

current policies, etc. as may appear to be
appropriate.

(vill) To examine such specific problems as may be

referred to It for advice by the Central and State

Governments.

Besldes the above-mentioned functions, another
most important task of the Planning Commission
Is that of formulating the plans for development
and assessment of their performance. Originally.
Planning Commission was set up as an expert
advisory body only. But with the passage of time.
the Planning Commission has bullt for Itself a status
of high prestige and commanding influence: In view
of the enormous Increase In the powers of the
Planning Commission. it has come to be known as
the Economic Cabinet.

In January 2015, NITI Aayog was established In place
af the Planning Commisslon.

Examine the different areas of agreement and
disagreement with respect to the model of
economic development to be adopted in India after
independence. (CBSE 2016)

Anag.

OR
Elaborate any three arguments glven by the critics
against the mixed model of the economy adopted
by India. (CBSE 2019)
() Agreement of Model:  After
Independence, there were lat of discugslon with
regpect to the model of economic development

Economic

to be adopted In Indla. 'Development’ was about
becoming more ‘modern’ and modern was
about becoming more Uke the industriallsed
countries of the West.

Indlan planners did not follow any of the two

known models of development le. capltaligt

model of developmaont and goclalist model of

development.

Indla adopted both elements of these models
that Is why Indlan economy |5 called Mixed
Economy. Private sectors and public sectors
flourlshed well In Indla, state controlled
the key Industries and provided Industrial

Infrastructure.

(i) Disagreement of the Economic Model: A
mixed economy was criticlsed by many

scholars and they argued that the planners

had refused the private sector with enough

space and the stimulus to grow. The

enlarged publc sector provided powerful

vested Interests that bullt enough hurdles

for prlivate capltal by way of Installing the

Ucense and permit systems.

Some critics have oplnion that the era of public

sectors where poverty did not decline even

number of poor were adversely increased. The

public sector did not spend much money on
health care and education. The state Intervened
into areas where private sector made profits.
The pollcy of state restricted import of goods
and production In the domestic market. Little ar
no competition left the private sector with no
Incentive to improve thelr products and make
them cheaper.

After all this criticism government adopted

the policy of globalisation. liberalisation and

privatisation in 1991. This policy [s called new

ecanamy polcy where private firms en|oy thelr
Independence and government Interferes only

In economic matters.



& Chapter Test

Multiple Choice Questions

QL The idea of five year plan was adopted In Indla fram:
a. United States of America
b. Japan
c. United Sovlat Soclallst Republics
d. Australle

Q 2. The Planning Commisslon in Indla was set up In:
a.1953 b.1957 ¢ 1960 d. 1950

Fillin the Blank Type Questions

Q3. ... Was Introduced to bring about

revolutionary changes in agriculture.

Q4. The principal obstacle in the way of agricuttural
growth was the ........ccen

Assertion and Reason Type Questions

Directions (Q.Nos. 5-6): In the questions given below, there
are two statements marked os Assertion (A) and Reason (R).
Read the statements and choose the correct optilon:
a. Both (A) and (R) are true and (R) Is the correct
explanation of (A).
b. Both (A) and (R) are true. but (R) Is nat the carrect
explanation of (A).
c. (A) Is true, but (R) Is false.
d. (A) Is false, but (R) Is true.

Q5. Assertion (A): The first five year plan (1951-1956)

sought to get the country’s economy out of the
cycle of poverty.
Reason (R): K. N. Raj a young economist involved in
drafting the plan, argued that India should ‘hasten
slowly’ for the first two decades as a fast rate of
development might endanger democracy.

Q 6. Assertion (A): Huge allocations were made for
large scale projects like the Bhakra Nangal Dam.
Reason (R): Agricultural sector was hit hardest by
partition and needed urgent attention.

Passage Based Question

Q7. Read the passage given below and answer the
questions that follow:

India did not follow any of the two known paths
to development............. Elements from both these
models were taken and mixed together in India.
That is why Indian economy was described as
‘mixed economy’,

(i) Name the two models/paths to development.
(li) Why was elther of the two models not fully
accepted by Indla? Glve at least one major
reason for each.
(lif) Highlight any two features of India's mixed
economy based on the above sald two models.

Cartoon Based Question

Q 8. Studythe cartoon given below carefully and answer
the question that follow:

(i) What does the above cartoon signify?

(ii) Who is the person In the middle of the astride and
what does he try to do?

(iii) List any two elements of mixed model

Very Short Answer Type Questions

Q9. What was the main objective of the Second Five
Year Plan?

Q10. In which year Planning Commission was set up
and who was the first Chairman of Planning
Commission?

Short Answer Type Questions

Q 1. Why was Planning Commission abolished?

Q 12. Mention any two merits of Green Revolution.

Long Answer Type Question

Q13. Describe the functions of National Developmeant
Council.



